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, SURFACE MOUNT
fre0 Aevices EPITAXIAL Transistor
VOLTAGE 20 Volts CURRENT 700 mAmpere

CHT8550GP

Q@o%@“%

* High DC current .

st -
* Small surface mounting type. (SOT-23)

SOT-23
CONSTRUCTION g8 2|2
* PNP transistors in one package. P PR P i % §
3|8 3[R ®
EIEEIE
055 (1.40) 028 (0.70)
047 (1.20) 020 (0.50)
.103 (2.64)
1086 (2.20)
CIRCUIT c® 045 (1.15)i 'g §
.033(0.85) _
mB 1
E® Dimensions in millimeters OT-23
LIMITING VALUES
In accordance with the Absolute Maximum Rating System (IEC 60134).
SYMBOL PARAMETER CONDITIONS MIN. MAX. UNIT
Vego collector-base voltage open emitter - -25
Vceo collector-emitter voltage open base - -20
VEBO emitter-base voltage open collector - -5
Ic collector current (DC) - -700 mA
Piot total power dissipation Tamb < 25 °C; note 1 - 225 mw
Tstg storage temperature -55 +150 °C
T junction temperature - 150 °C
Tamb operating ambient temperature -55 +150 °C
Note 2008-01

1. Transistor mounted on an FR4 printed-circuit board.




RATING CHARACTERISTIC CURVES ( CHT8550GP )

CHARACTERISTICS

Tamb = 25 °C unless otherwise speciped.

SYMBOL

PARAMETER

CONDITIONS MIN. MAX. UNIT
V@eRr)cso | collector-base breakdown voltage Ic =-10UA; Ig = 0A -25 - \
V@eRr)ceo | collector-emitter breakdown voltage | Ic =-1mA ; Ig = 0A -20 - \Y
V@er)eBo | emitter-base breakdown voltage le =-10uA; Ic = 0A -5 - \Y
lcBo collector cut-off current Vcp = -20V - -1.0 uA
leBO emitter cut-off current Vg = -6V - -100 nA
hee DC current gain Ic=-150 mA; Vce = -1V 100 500
VcEsat collector-emitter saturation Ic =-500 mA,; Ig =-50 mA - -500 mV
VBEon base-emitter voltage Ic =-150 mA; Vcg = -1.0V - -1000 mV
Ccb output capacitance Vce=-10V; f=1.0MHZ; I1e=0 - 10 pF
fr transition frequency VcBe=-10V; Ic=-20mA; f=100MHz | 150 - MHz

2. hFE: C Classification: 100~200
D Classification: 150~300
E Classification: 250~500




RATING CHARACTERISTIC CURVES ( CHT8550GP )

Figure 1. Collector-Emitter Saturation
Voltage vs Collector Current

vs Collector Current

Figure 2. Base-Emitter Saturation Voltage
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Figure 3. DC Current Gain
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